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Fill in the Blanks - ANSWERS

a) Holes

b) Decrease

c) Diamagnetic substance

d) Displacement current



e) Converge

f) Conduction Band

Answer of true /False Question no, e) - TRUE



One word Answer Type Questions - ANSWERS

a. Ammeter



b. 1

c. δ - Minimum

d. P-type semiconductor.

e. +1/ε0



OR,

एक लये शीधे तार में 30 की धाता प्रवात होती है। चार में 10 भी परूी पर रिया बिदंु पर चमु्बकीय के्षत्र के परिमान
की कीजिए।
A long straight wire carries a current of 30A. Calculate the magnitude of magnetic field at a point
30 con from the wire.

14. प्रकाश के परू्ण आतरिक परावर्तनका निम्नलिखित विन्दओुं के आधार पर कीजिए

(1) नानांकित किरण आरेख
(ii) परिभाष
(iii) एक अनषु
Describe total internal reflection of light on the brais of following points
(1) Labelled ray diegram



(ii) Definition
(iii) An application

ह के उम मियात जननिविदओुं के आधार पर कीजिए
(1) तरंगाध की परिभाषा
(रिकंा किरण आध
(iii) द्वितीयक तांशिकाओं का निर्णय

Describe Hoygen's principle on the basis of following points:
(1) Definition of wave front
(ii) Hay diagram of spherical wave emanating from peint source
(iii) Emanation of secondary wavelets:

15. Write three experimental observations of photoelectric effect.
अपरा/ OR
फोटॉन की तीन विशषेताएँ लिखिए।
Write three characteristics of photop

16. किसी ऐल के विद्यतु वाहक यल, विभवांतर व आतंरिक प्रतिरोप के बीच ससं्थापित कीजिए।
Establish the relation between EMF, terminal voltage and internal resistance of a cell.
श्रीटाटोन सेतु का नामांकित चित्र बनाइए एवं केतु के लिए आवश्यक
Draw the labelled diagram of wheatstone bridge and write the necessary condition for the
halance of wheatstone bridge

17. Describe an expression for motional electromotive force induced across a ight conductor
moving in any uniform magnetic field.
OR
Find the expression of resultant voltage, impedance and phase difference sen current and
voltage with the help of phaser diagram in series LCR Circuit.

18. मन्द्रमों के सवंाहन की परिणामी क्षमता के लिए व्यजंक की स्थापना
Establish the expression for the net power of combination of two thin lenses kept in contact.

19. Write two shortcomings of Rutherford's nuclear model and explain how Bohr's model of
hydrogen atom ovariome these shortcomings?
or,
नापिकीय मनंयन एवं विखन की एक-एक कहना में चाया कीजिए।
Explain the nuclear fusion and fission with the help of one example each.

20. निर्वात में एक दसुरे से 40 पेपी दरूी पर स्थित हैं। इन दोनों प्रवेश को जोड़ने वाली रेखा के पर विद्यतु अत्र की
तीव्रता
अपना / OR
3 př, 4 př a 5 pl धारितानी सापार्यक्रम में 120V की बटैरी से जडु़े हैं। सयंोजन की कुल धारिला कपिर आवेश ज्ञान
जिए।
Three capaciters of capacitance 3 pF, 4 pf and 5 pF are connected in parallel to a 120V battery,
Find the total capacitance of the combination and charge on cach capacitor.



Please refer to the image below for Question no 20.


